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Pull of y for merged vertices

R R IS SN S RO U5 < | R
1 of oo fo L

038

T e 00 OO S O 0 O s U |
[ I IR IR I (PPN | PP PPN PP OL‘N-....I....I....I....I....I....I....I.... ° ;.;"""""""""'""""""""""
N 41 g : ™ : S 10sE

[ 14 [ : 14 E

[ i BE o AR A I=----r1 as H#+#+*++ a-"‘: """ 1=

r Jah Lo S : 0.95F -+ +reeee b oot B L
050 =15 =10 -5 510 15 20 095 t5 —i0 55 10 1520 055 =15=10 50 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

2 T N [
L 3 Y— Q
. o Q
: : : : : : : = =
L : : : : : : = 5
1.8f-ckeeeen RRPER REPRRES CREPRE SEREEE: T AR a > 1.8ecreeee e M g e
Lo : : : : : : o
[ : : : : : : 4
r : : : : : : )
R AR AR ettt E LB
P : : : : : : .
L S
8
T T U R N
L Rt iy il S A A B LA
N 5
oo : : : : : : o
1.2f---reeen s LR e AR B
he]
IS
©

10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


